k5,

SHIELDER"

ROFESSIONAL TOOLS

Al

R COMPRESSOR 24,50,80 Liter
Models : SH-2425,SH-5025,SH-8025

37 383940 41 42

SYMBOL OF POWER & SKILL -




SHIELDER"

ROFESSIONAL TOOLS

1 BLOT M8x105 34 | PLASTIC WASHER FOOT
2 CYLINDER COVER 35 BOLT M8*25

3 | CYLINDER COVER GASKET 36 WASHERS

4 VALVE PLATE 37 DRAIN VALVE

5 VALVE CLACK 38 NUT M10

6 COLUMN Q3 39 SPRING WASHERS
7 VALVE PLATE GASKET 40 WASHER 10

8 CYLINDER 41 WHEEL

9 CYLINDER GASKET 42 WHEEL BOLT M10
10 PISTON RING 43 TANK

11 PISTON 44 RUBBER PLUG
12 CIR CLIP 45 NUT M8

13 CONNECTING ROD 46 STEM RP1/4
14 CRANK CASE 47 LOCK BOLT M8*30
15 CRANK 48 DISCHARGE PIPE
16 HEX BOLT M8x22(LEFT) 49 STATOR

17 RUBBER GASKET 50 BEARING 6202
18 BREATH PIPE 51 MOTOR COVER
19 CRANK CASE COVER 52 BOLT M5x105
20 BOLT M6x10 53 FAN

21 OIL LEVELER GASKET 54 CIRCLIP

22 OIL LEVELER 55 BOLT ST3.9x19
23 ONLE-WAY VALVE 56 BOLT M5x8

24 PRESSURE SWITCH 57 ROTOR

25 PRESSURE GAUGE 58 BEARING 6204
26 PLUG LINE 59 SEALING RING
27 QUICK COUPLERS 60 CAPACITANCE
28 REGULATOR VALVE 61 | CAPACITANCE WASHER(®8)
29 RELEASE PIPE 62 PISTON PIN

30 SAFETY VALVE 63 FAN COVER

31 RUBBER HANDLE 64 AR FILTER

32 STEM RP1/2 65 CURVED HEAD
33 NUT M8

SYMBOL OF POWER & SKILL -



